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1. KEX (G 3 601% 1K)

EERFLULDOHER

RERX

EEEE

BEE BB . Refe | @as | TERR
wiR% R (me/ke) (mg/kg) Bk Mg/ ke
MCPB 2 0 — 0.1 0 0.02
FIUERIRAEY 7 1 0.02 0.2 0 0.01
A<V R)L7ay 5 0 — 0.1 0 0.01
EEi=wIN 11 0 — 1 0 0.02
IrTz>FOvisR 18 0 — 05 0 0.01
THRHBTTIY 1 0 — 0.02 0 0.02
AXxHToatRy 3 0 — 0.05 0 0.01
HhozoZAbA—)L 5 0 — 0.02 0 0.02
*/4532(ACN) 1 0 — 0.02 0 0.01
YAFFT=ov 7 1 0.2 1 0 0.02
7=k =t 2 0 — 0.02 0 0.02
yasvks=yJFo—iL 15 0 — 0.05 0 0.01
CITISY 37 21 0.01 ~ 0.12 2 0 0.01
onakRyFITFIL 11 0 — 0.1 0 0.02
DABARN) Y 3 0 — 0.05 0 0.01
AR 2 0 — 0.05 0 0.01
USINA TV 3 1 0.01 03 0 0.01
RE/HE 10 0 — 0.1 0 0.01
A4 LAY 14 0 — 0.1 0 0.01
F7oaTYR 1 0 — 0.1 0 0.02
FTAFY L 1 0 — 03 0 0.02
FIILFIK 3 0 — 1 0 0.02
FZuga—L 1 0 — 0.1 0 0.01
WP/ VA% 19 0 — 3 0 0.05
Eson=)L 18 0 — 0.05 0 0.01
EVIFHILT 1 0 — 0.03 0 0.01
EYUS/NYIAFIL 4 0 — 0.05 0 0.01
==k Juh) 3 0 — 0.2 0 0.02
J470=)L 6 0 — 0.01 0 0.01
Jz=kAFA (MEP) 7 0 — 0.2 0 0.05
IzYLYY 8 5 0.06 ~ 0.48 2 0 0.02
JIVhI—F(PAP) 1 0 — 0.05 0 0.01
THSAF 1 2 0.02 ~ 0.04 1 0 0.02
Jaoo—)L 4 0 — 0.1 0 0.02
INTCHFY=IL 1 0 — 0.05 0 0.01
TILLS=L 2 0 — 2 0 0.01
JLFSya—L 9 0 — 0.03 0 0.01
JnEIFK 21 12 0.02 ~ 0.1 0.7 0 0.02
RIFRARF L 1 0 — 0.05 0 0.01
Ryiyny 3 1 0.01 03 0 0.01
RUZLTAVAFIL 8 0 — 0.1 0 0.01
Ry ozFv7S 2 0 — 0.05 0 0.01
RUrFHJY 10 0 — 0.05 0 0.01
RyILt—hk 2 0 — 0.05 0 0.02
AESXTIL 7 0 — 0.1 0 0.02




2. K= G#%: 301%4K)

- gl RERSALORR S | was |EEER
wiRS IR (ma/ke) (mg/kg) Bk Mg/ ke,
F7IFRMBEY 11 0 — 05 0 0.01
75%78—)L 13 0 — 0.02 0 0.02
IF7o—L 8 0 — 0.2 0 0.01
Ik FAavsIR 6 0 — 0.2 0 0.02
YAFFT=Iw 20 0 — 0.1 0 0.02
yasvhs=y7Fa—)L 19 0 — 0.2 0 0.01
STIITER 1 0 — 0.3 0 0.02
SIMIIVALT 1 0 — 0.1 0 0.03
SITITY 2 0 — 0.1 0 0.01
TR 4 0 — 05 0 0.1
ORJLAN) Y 9 0 — 0.05 0 0.05
DATFIR(DATFIRPEED) 8 0 — 0.05 0 0.01
AT/ 3 0 — 0.1 0 0.01
FTAEY L 19 0 — 0.04 0 0.01
FARUANT (RoFFH—T) 1 0 — 0.02 0 0.02
EUgYIL 1 0 — 0.2 0 0.02
Jz=rAFA (MEP) 12 0 — 0.2 0 0.02
INTCFHFI=IL 12 0 — 05 0 0.01
U Sl S 4 0 — 0.1 0 0.02
TNRUTTIR 4 0 — 1 0 0.01
s DA N 3 3 0.14 ~ 0.4 2 0 0.02
TOFARR 5 0 — 0.05 0 0.02
ANELFTIIR 2 0 — 05 0 0.01
RILAN)Y 1 0 — 0.05 0 0.01
RUFF7YALTAVYTBE L 1 0 — 0.05 0 0.01
RUTAAR) Y 3 0 — 0.2 0 0.01
IO TAISER 1 0 — 0.2 0 0.01
AFSEDI(AESHDILMEED) 12 0 — 0.05 0 0.02
=== 20 0 — 05 0 0.02




3. BALL G % 60/%1%)

EERFLELEOHER

RERE

HEEE

BEE ApEH - Rel | @rs | TEER
H®iRE REEE (me/ke) (mg/kg) Bk 8/KE
FOUFRIY 1 1 0.01 05 0 0.01
FEAITYR 37 13 0.02 ~ 0.13 2 0 0.02
FUELRROEY 3 3 0.04 ~ 0.1 2 0 0.01
Ve =11 24 0 — 2 0 0.01
A= 1 0 — 10 0 0.05
435 pnFYr 7 0 — 0.7 0 0.02
IrFHY—IL 1 0 — 0.5 0 0.03
IrTz>FOvsR 2 0 — 2 0 0.02
$IL731)JL(NAC) 9 0 — 1 0 0.05
*vTay 59 19 0.02 ~ 0.41 25 0 0.01
GLIXDLAFIL 34 14 0.03 ~ 0.22 5 0 0.02
YAFFT=Uy 35 6 0.01 ~ 0.06 1 0 0.01
yasvks=yrFo—iL 26 7 0.02 ~ 0.06 1 0 0.02
20)LEYRR 38 0 — 0.5 0 0.02
207z ENL 28 3 0.04 ~ 0.08 1 0 0.02
L7 /HRA(CYAP) 31 0 — 0.2 0 0.02
JI/ESTIY 10 4 0.01 ~ 0.14 2 0 0.01
CITISY 35 26 0.01 ~ 0.1 1 0 0.01
Sox/arvy—IL 54 0 — 0.8 0 0.01
==Y 39 0 — 5 0 0.03
SRILAN) Y 11 2 0.07 ~ 0.25 2 0 0.05
AaFJ—IL 1 ] — 0.5 0 0.02
USINF T 7 4 0.02 ~ 0.04 1 0 0.01
AT/ 15 0 — 0.1 0 0.02
F7oaTYR 32 0 — 2 0 0.03
FTAEHL 12 1 0.06 1 0 0.02
TIaFrJ—1L 18 1 0.15 5 0 0.05
FINARL XAy 1 1 0.04 1 0 0.02
rSOAM) Y 14 2 0.01 ~ 0.02 0.3 0 0.01
FLIIVESK 36 1 0.04 2 0 0.02
(= SNV 13 6 0.01 ~ 0.03 05 0 0.01
ESsnzkoEy 31 19 0.01 ~ 0.1 0.7 0 0.01
Jz=hkAFA (MEP) 20 0 — 0.2 0 0.02
JxuLL—k 1 0 — 2 0 0.05
JrvEnFxyAi—tk 14 0 — 1 0 0.02
JzyJary— 25 10 0.01 ~ 0.02 0.7 0 0.01
Jzo7osky 4 3 0.04 ~ 0.06 5 0 0.02
J7mozPy 23 0 — 6 0 0.05
INToF L 22 ] — 05 0 0.02
P2IZAVE Sl 12 0 — 2 0 0.01
INTT/HARAY 1 0 — 05 0 0.02
TNRUTTIR 23 16 0.01 ~ 0.05 0.8 0 0.01
~ExHaFJ—L 36 0 — 0.3 0 0.02
AXRLFFTIIR 3 0 — 0.5 0 0.02
RILANY 3 3 0.03 ~ 0.12 2 0 0.02
RUFFEFF 19 8 0.01 ~ 0.05 3 0 0.01
RRAYK 31 18 0.03 ~ 0.18 3 0 0.02
AU 24 0 — 3 0 0.02
AFHFA (DMTP) 45 0 — 1 0 0.02




4. IZALA (G 608 1K)

- apEsl _ ERRAMLORR "Hai | e | TEES
wiR% IR (ma/ke) (mg/kg) Bk me/ ke,
FEAITYR 3 0 — 0.2 0 0.02
F7IFURRBEY 17 1 0.02 1 0 0.01
1IxYFFY 5 0 — 0.05 0 0.01
17av+y 11 1 0.12 5 0 0.05
2UTHRR 3 1 0.06 0.03 1 0.01
12850 FK 2 0 — 0.4 0 0.02
XYL 8 0 — 0.2 0 0.01
TXVI =B 5 0 — 0.2 0 0.01
GLYFDLAFIL 12 0 — 0.2 0 0.02
2aLI7zFENL 3 0 — 0.2 0 0.02
~0040=)L(TPN) 25 0 — 1 0 0.01
IR 3 0 — 0.1 0 0.05
RJLAN) Y 17 0 — 0.05 0 0.05
RE/HE 5 0 — 0.2 0 0.02
AT/ 14 0 — 0.5 0 0.02
FATHILD 6 0 — 0.5 0 0.01
FINRIY 12 0 — 0.1 0 0.02
r)ZILIJ—IL 3 0 — 05 0 0.05
rIZLS)Y 7 0 — 1 0 0.01
ESsnzxkaEy 8 0 — 05 0 0.01
EUZYIL 4 0 — 0.3 0 0.02
THRIHRR 4 0 — 0.03 0 0.01
P UE Sl S 1 0 — 0.05 0 0.03
INTT/HAAY 8 0 — 0.2 0 0.02
TNRUTTIR 13 1 0.01 0.3 0 0.01
Javsky 7 2 0.04 ~ 0.07 0.2 0 0.03
RIVANY 1 0 — 0.1 0 0.02
RUFFHEFR 6 0 — 0.6 0 0.01
RUTAAR) Y 32 0 — 0.2 0 0.02
RRAYR 9 1 0.05 2 0 0.02
RRFF7E—F 9 0 — 0.2 0 0.02
AYEIL 17 0 — 0.5 0 0.02
AFSEDIL(AESHDILMEED) 8 1 0.08 0.4 0 0.02
=== 38 0 — 1 0 0.02




5. ZEDLG B 574K

- g | EERANLOWR "Hhi | e | TEES

wiRS IR (ma/ke) (mg/kg) Bk Mg/ ke,

FEAITYR 16 1 0.03 5 0 0.02
7eIT—h 1 0 — 5 0 0.01
F7IFRRBEY 8 1 0.25 15 0 0.01
75%8—)L 5 0 — 0.01 0 0.01
12550 FKR 5 0 — 5 0 0.02
IRAFUORBERIE 1 0 — 0.5 0 0.01
YAFFT=ow 2 1 0.01 10 0 0.01
~av7/SR 1 0 — 5 0 0.02
yasvbS=yFa—IL 13 7 0.02 ~ 4.9 20 0 0.02
2aLI7zHENL 3 2 0.04 5 0 0.02
LTI IFER 12 4 0.04 ~ 0.24 15 0 0.02
SITITY 17 13 0.02 ~ 0.8 10 0 0.01
RJLAN) Y 10 5 0.08 ~ 0.61 5 0 0.05
RE/HE 12 0 — 10 0 0.02
AT/ 14 1 0.5 0.1 1 0.02
FTAEY L 1 1 0.02 5 0 0.02
FINRIY 8 1 0.02 05 0 0.02
EUZYIL 2 1 0.24 15 0 0.02
EYSRZAFIL 2 1 0.04 1 0 0.02
INTT/HAAY 14 5 0.02 ~ 0.31 10 0 0.02
TNRUTTIR 5 2 0.01 ~ 1.4 20 0 0.01
AYEIL 2 0 — 2 0 0.02
ARIRTRR 1 0 — 0.7 0 0.01
AFSEDI(AESHDILMEED) 6 0 — 1 0 0.02
JLo7IXAY 3 2 0.33 ~ 1.1 5 0 0.05




6. Lp AE (G EL: 5918 4%)

xa g | EERAMEONR "Ski | sis | TERS

wiRS = B #E P (me/ke) (me/ke) Bk me/ke

F7EAITYK 9 4 0.02 ~ 0.15 10 0 0.02
FIYFRRREY 10 7 0.02 ~ 26 30 0 0.01
1IEYFFY 2 0 — 0.05 0 0.01
IRAFUORBERIE 34 0 — 0.5 0 0.01
L 6 0 — 5 0 0.01
IWE DTN 8 3 0.03 ~ 7.2 20 0 0.02
YRFT=DY 4 3 0.07 ~ 0.56 10 0 0.01
2Tz FEL 8 4 0.04 ~ 0.43 20 0 0.02
SITIFY 10 7 0.01 ~ 0.55 20 0 0.01
—ZFUESL 19 8 0.01 ~ 0.16 2 0 0.01
EUgYIL 6 3 0.5 ~ 2.6 25 0 0.02
JLTT/HARAY 20 7 0.03 ~ 12 10 0 0.02
JaEHsr 8 2 0.02 ~ 0.03 0.3 0 0.01
RILAR) 9 1 0.12 3 0 0.02




7. 70yl — (G 308K

- apEs | EERANLOWR "R | e | TEES
wiRS IR (ma/ke) (mg/kg) Bk me/ke.
EPN 1 0 — 0.1 0 0.03
FEEITYR 4 0 — 2 0 0.02
77—k 1 0 — 5 0 0.01
TIFRRBEY 2 0 — 5 0 0.01
75%8—)L 4 0 — 0.02 0 0.01
1254 H90FK 2 0 — 5 0 0.02
AVEFRYHNT (AVRFHHILTMPESD) 1 0 —_ 0.2 0 0.02
Ik FavsR 1 0 — 10 0 0.02
TEV =B 5 0 — 0.2 0 0.01
YAFF=Tw 11 0 — 1 0 0.01
HavIT/OR 2 0 — 2 0 0.02
yasvks=yrFo—i 21 2 0.07 ~ 0.08 4 0 0.02
2aLI7zHENL 9 1 0.09 3 0 0.02
2077y 2 0 — 2 0 0.02
~0040=)L(TPN) 9 0 — 5 0 0.01
STIITER 5 0 — 1 0 0.02
SITFITY 4 0 — 2 0 0.01
RE/HE 2 0 — 2 0 0.02
A7/ 1 0 — 0.1 0 0.02
FT7ANEY L 7 0 — 5 0 0.02
TINRLXAY 4 0 — 1 0 0.02
rSOAR) Y 1 0 — 0.2 0 0.01
RIS 1 0 — 0.05 0 0.01
FILIBRZAF )L 7 0 — 2 0 0.01
MLZZUESK 2 0 — 1 0 0.02
ESsnzkaEy 7 0 — 5 0 0.01
EUZYIL 5 0 — 2 0 0.02
478=)L 4 0 — 0.03 0 0.02
Iz hI—F(PAP) 5 0 — 0.05 0 0.02
THRIHRR 1 0 — 0.02 0 0.01
INTT/HAAY 4 0 — 5 0 0.02
TNRUTTIR 3 0 — 5 0 0.01
RILANY 5 1 0.21 2 0 0.02
RUFFHEFR 3 0 — 10 0 0.01
RRAYR 8 0 — 5 0 0.02
ISFAU(ITIY) 1 0 — 5 0 0.03
T TAISER 2 0 — 5 0 0.02
AYEIL 2 0 — 2 0 0.02
ARIRTRR 1 0 — 1 0 0.01
AFSEDI(AESHDILMEED) 6 0 — 0.5 0 0.02
JLo7IXAY 1 0 — 2 0 0.05




8. JEMEERL AR (R 45 : 304& 1K)

HRBERE

EEEE

FE2 ApE __ EERRULOER Eefe | @ap | TEEE
wiRS IR (ma/ke) (mg/kg) Bk me/ ke,
FEEITYR 4 1 0.03 10 0 0.02
FIYFRRREY 12 3 0.01 30 0 0.01
1IEYFFY 1 0 — 0.1 0 0.01
12890 7K 10 0 — 3 0 0.02
AUREHHLT (AUREFALIMPESE) 3 1 0.04 14 0 0.02
TXVI =B 1 0 — 5 0 0.01
YRFT=DY 19 2 0.13 ~ 0.25 20 0 0.01
~av7/SR 1 0 — 2 0 0.02
yasvbS=yFa—IL 19 8 0.02 ~ 0.33 20 0 0.02
~a[a420=)L(TPN) 2 0 — 1 0 0.01
SITIFY 3 1 1.4 25 0 0.01
SRIJLAN) Y 1 0 — 2 0 0.05
RE/HE 1 0 — 10 0 0.02
FT AN L 14 3 0.03 ~ 0.07 3 0 0.02
TINRIY 1 0 — 05 0 0.02
kTS 1 0 — 0.1 0 0.01
MLZIVESK 3 1 0.03 10 0 0.02
ESynxkoEy 4 1 0.02 2 0 0.01
EUZYIL 3 1 0.03 20 0 0.02
JzunNLL—k 1 0 — 2 0 0.05
INTOF L 2 0 — 0.1 0 0.02
INTT/HAAY 2 0 — 10 0 0.02
TNRUTTIR 6 3 0.64 ~ 2.7 15 0 0.01
RUFFHESR 10 7 0.02 ~ 45 30 0 0.01
RUTAAR) Y 1 0 — 0.2 0 0.02
RRAYK 5 2 0.05 ~ 0.2 40 0 0.02
TSFFU(RTUY) 1 0 — 2 0 0.03
EOOPATANS 3 2 0.03 ~ 0.14 25 0 0.02
AFSTTIOR 1 0 — 30 0 0.02
JLo7IXAY 2 1 0.08 10 0 0.05




9. I1Z5 (R %k : 301% 1K)

- g | EERANLOBR "Hhi | e | TEES

wiRS IR (ma/ke) (mg/kg) Bk Mg/ ke,

FEEITYR 9 5 0.08 ~ 0.45 5 0 0.02
F7UELRROEY 5 3 0.03 ~ 26 70 0 0.01
IWE DTN 20 16 0.03 ~ 4.7 25 0 0.02
YAFFT=ow 9 5 0.05 ~ 0.31 15 0 0.01
SITISY 7 6 0.03 ~ 0.53 10 0 0.01
ORIJLAN) Y 18 10 0.06 ~ 1.2 6 0 0.05
RE/HE 10 3 0.03 ~ 0.1 5 0 0.02
r)ZILIJ—IL 1 0 — 3 0 0.05
MLZZUESK 1 0 — 10 0 0.02
EUZYIL 3 3 0.07 ~ 26 20 0 0.02
INTOF L 1 0 — 0.1 0 0.02
INTCFHFI=IL 7 3 0.03 ~ 0.17 10 0 0.03
TOFARR 3 1 0.06 0.1 0 0.03
RUFFHESR 4 3 0.02 ~ 1.6 20 0 0.01
RUTAAR) Y 2 0 — 0.05 0 0.02
AYEIL 2 0 — 2 0 0.02
AFHEFF (DMTP) 3 0 — 0.1 0 0.02
=== 1 0 — 0.2 0 0.02




10. E—< > (¥ 51: 601%1%)

EERFRLEDOFER

KERE

EEEE

xS npEs : — Eem | map | TEBE
BIRE R (me/ke) (mg/ke) BRE me/ ke

TOVFRI 5 0 — 1 0 0.01
TEAITYR 11 2 0.08 ~ 0.09 1 0 0.02
FIYELRROEY 14 7 0.01 ~ 0.68 3 0 0.01
17Tty 11 4 0.07 ~ 12 10 0 0.05
A3 F7HRR 8 1 0.01 0.7 0 0.01
1354 9nFYr 11 4 0.03 ~ 0.18 3 0 0.02
AVRFH AT (AVRFHAILITMPESLD) 2 0 — 1 0 0.02
GLIYX D LAFIL 2 1 0.08 2 0 0.02
YaFF=ov 16 2 0.01 3 0 0.01
yasvbs=yFo—iL 5 1 0.08 1 0 0.02
SOLIzFEI 17 2 0.11 ~ 0.94 1 0 0.02
£0[a40a=)L(TPN) 29 5 0.01 ~ 0.42 7 0 0.01
LTI IFIR 2 0 — 1 0 0.02
VI/ESIIY 7 0 — 1 0 0.01
CITISY 21 6 0.02 ~ 0.17 3 0 0.01
$oz/arv—n 7 3 0.02 ~ 0.1 2 0 0.01
YINITFER 12 1 0.1 1 0 0.02
URIVAN) Y 2 0 — 2 0 0.05
RE/HFR 19 0 — 2 0 0.02
BATOIY 2 0 — 0.1 0 0.02
FTAEH L 7 2 0.02 1 0 0.02
FJZLE—L 16 1 0.19 3 0 0.05
FMLOBRZRAFIL 4 0 — 2 0 0.01
FLZIVESKE 7 2 0.2 ~ 0.52 3 0 0.02
ESsnzxkoEy 4 0 — 1 0 0.01
EVERY 3 1 0.04 3 0 0.03
EUSYIL 19 1 0.3 2 0 0.02
E7Rxi oy 1 0 — 3 0 0.02
JzHI)EL 4 0 — 05 0 0.1

JroERFxTA—k 1 0 — 1 0 0.02
INSHXY=L 1 0 — 5 0 0.03
IL7z/9ZAY 6 1 0.04 1 0 0.02
TRV TER 12 2 0.03 ~ 0.3 3 0 0.01
Javsry 9 8 0.07 ~ 0.49 5 0 0.03
RILANYY 5 0 — 3 0 0.02
RUFFESR 19 1 0.33 3 0 0.01
RRAYR 5 0 — 10 0 0.02
RRFF7HE—+ 2 0 — 0.1 0 0.02
RSFFU(IFV) 2 0 — 0.5 0 0.03
nJ4e=)L 12 1 0.07 1 0 0.05
AYSIL 1 0 — 0.7 0 0.02
AESHDI(AFIZEVILMEED) 3 0 — 2 0 0.02
AFTTTIOR 1 0 — 3 0 0.02
Lo7zxay 6 0 — 1 0 0.05




